
Assembly Directions for
 Comfo & Cozi Love Seat

# PCLS4800 , #PZLS4800

Cozi Love Seat

Comfo Love Seat

Right Arm

Left Arm

Leg

Ba
ck

 S
la

t

SeatSupport Seat Slat

Love Seat Cross Brace

C
en

te
r B

ac
k 

Sl
at

Leg Brace

PACKAGE CONTENTS
1 Back Assembly
1 Seat Assembly
2 Arm Assemblies
1 Cross Brace
1 Hardware Package

1 2 3 4 5
Use to measure bolts

HARDWARE PACKAGE
3 • 1/4” x 3” Allen Head Bolts
2 • 1/4” x 31/2” Allen Head Bolts
2 • 1/4” x 41/2” Allen Head Bolts
7 • 1/4” Flange Nuts
4 • 21/2” Bugle Head Sq. Drive 
Screws

TOOLS NEEDED
7/16” Wrench

Hammer
Allen Wrench (included)



Step #1
Fasten the Arm and Leg Assembly to the Seat 
and Back using 1/4” Allen Head Bolts (size is 
specified below). Using a hammer, firmly tap the 
Bolts until they are flush with the poly surface. 
Securely tighten using 1/4” Flange Nuts.

1/4” x 3” Allen Head Bolt
1/4” x 31/2” Allen Head Bolt 
1/4” x 41/2” Allen Head Bolt

Step #2
Turn the chair on the other side and repeat Step 
#1.

1/4” x 3” Allen Head Bolt

1/4” x 31/2” Allen Head Bolt 
1/4” x 41/2” Allen Head Bolt

Step #3
Set Love Seat upright, and fasten Cross Brace 
using 21/2” Bugle Head Sq. Drive Screws. 

21/2” Screws

NOTE: Make sure top of Cross Brace is 
flush with top of Leg Brace.

Step #1

Step #2

Step #3


